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General Instructions :
Read the following instructions very carefully and strictly follow them :

(i) All questions are compulsory.

(it)  Questions from serial numbers 1 to 16 are Objective Type Questions
carrying one mark each. You have to write the correct option/word in
your answer-book.

(iti) Marks allotted to other questions are indicated against each of them.

1. Expenditure is a wider term and includes . 1

2. Revenue expenditures which are likely to give benefit for more than one
accounting period are termed as . 1

3. Depreciation will be charged on which of the following ? 1
(A) Salary

(B) Advertisement
(C) Fixtures
(D) Wages

4, Under which method of charging depreciation is the value of the asset
reduced to zero after its useful lifetime ? 1

(A)  Straight line

(B) Diminishing value
(C) Both (A) and (B)
(D)  Neither (A) nor (B)

5. Which of the following is not a cause of depreciation ? 1
(A) Usage
(B) Wear and tear
(C)  Accident
(D)  Scrap value
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(A) ¥ 1,10,000
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(C) ¥ 1,00,000

(D) T 1,20,000

Tehg JEdeh I qAT I §oh I 1 AT 3 o foru dar fobw I aret forawor
I HEd @ |

g T o oo hicH G ST Y ShiSe AW i Had & |
faf o= BT =AM |

e o fofma o &1 Y el o fafy @ g fopm Smar g a1 s@
_ #Ed@|

(A) &g T YA

(B) 3T AT

() <afafy @ g yam e

(D)  FrehtTl

fafrma o § syam % fog B S |

Tohdd AR g0 ¥R fopu I oo f=fafigs # @ 99 w foxfiw faeo
78T 8 ?

(A) I Qrdl

(B) ATY-EIM HHTAISH @

(C) 9B wa

(D) Teufa foewo

T g ARG S9N o foTU 3TT8Tur <h1 M8 et Wkl AHfafgd 4 9 fora
AT 1T 8 ?

(A) ISl @

(B) I Qrdl

(C) 9T @

(D) AY-BIH SIS T

Do oaded From : http://chsepbrtal . con Courtesy :

CBSE


http://cbseportal.com/
http://cbseportal.com/

Daow@l oaded From : http://cbseportal . conl
v

6.

10.

11.
12.

13.

Do@m?ﬁoadedFrom - http://cbsepdrtal .com Courtesy : PCB3E

A machinery was purchased for ¥ 1,10,000. Its estimated scrap value is
< 10,000. The total depreciation to be charged on the machine will be :
(A) < 1,10,000

(B) < 10,000

(C) ¥ 1,00,000

(D) ¥ 1,20,000

A statement prepared to tally the cash book balance and the pass book
balance is called

Credit balance shown by the bank column of the cash book is called

A bill of exchange must be

If a bill of exchange is met before its due date then it is called

(A) discounting
(B)  dishonour
(C)  retiring

(D) renewal

A bill of exchange contains a/an to pay.

Which of the following is not a financial statement prepared by a sole
trader ?

(A) Trading Account

(B)  Profit and Loss Appropriation Account

(C)  Profit and Loss Account

(D) Balance Sheet

Cash withdrawn by the owner for personal use is shown in which of the
following ?

(A)  Capital Account

(B) Trading Account

(C)  Profit and Loss Account

(D)  Profit and Loss Appropriation Account
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14. Which of the following is prepared to calculate capital in case of
incomplete records ? 1

(A)  Statement of Affairs

(B) Trading Account

(C)  Profit and Loss Account
(D) Drawings Account

15. Which of the following equations is not correct ? 1
(A) Capital = Total Assets + Liabilities
(B)  Profit = Capital in the end — Capital in the beginning

(C) Profit = Capital in the end — Additional Capital introduced —
Capital in the beginning

(D) Profit = Capital in the end + Drawings — Additional Capital
introduced — Capital in the beginning

16. Fill in the blank in the following statement : 1

Single entry system is expensive as compared to double
entry system of bookkeeping. (more/less)

17. What is meant by ‘Deferred Revenue Expenditure’ ? 3
18. Give any three points of distinction between ‘Capital Receipts’ and
‘Revenue Receipts’. 3
19. What is meant by ‘Obsolescence’ ? 3
OR
State any two limitations of ‘Straight Line Method’ for calculating
depreciation. 3

20. Who prepares the Bank Reconciliation Statement ? State the purpose of

its preparation. 3

21. Give the meaning of ‘Days of Grace’ and ‘Date of Maturity’. 3

22. Briefly explain the importance of financial statements. 3
OR

Briefly explain any three objectives of preparing financial statements. 3
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23. B I HigT I T 70,000 T HIA YW =1 qAT HigTd W 9 A8 99910 < Th
fafm o forg feom | <@ fafy =61 diga 6 s1oet wierian i g fomam |

SUh gl o foTe gl qon wigd i gl U SAaveh UsHmEET yfaftest

ShITT | 4
3t
fafm o o fohegl =X AT T FHST | 4
24, TAfafEd ga1 € 7. 3 S8 o1 % gHIgH faawor dar HivT 4
T
31.7.2019 i Uhg T&aeh o TIAR Seh ATy 45,000
e Frifia fopu oieg YA 2g T&qd el R 17,500
e W1 fehU g s ZIU ThEI & fehu MY 9,600
S g fae W Tshia = 2,300
Seh g Sfere dh YYR 1 Tehg J&ash | &l fof@ T 350
3T
Seh T foatu dUR i wRITGTY THTET 99 99 G 1 Seh SAfaey
feom & | 4
25. T=faRgd g=@1 ¥ 31.3.2019 ! ¥ §T 9N & fO@ A9 @aT 9w
HIFTT 4

Tha @9 T 60,000; TRTET T 5,000; J@F T 15,000; HHIH TAH
T 7,000; T W FE YEHE T 5000; fGFE T 4,000; Y@ FET
T 3,000; Tifém qen wemd = 2,000; fAfess 91 = 5,000; 9@ T T 1,000;
I8 T 2,000; T AN T 4,000.

26. T@ 319 MR & 70 WA @Al & | 3G J&ahi § T FHefefaa g1 9
31.3.2019 ! EATA gL ¥ H 3(fid oW, AW faeror dam =t 3

T : 4
T
1.4.2018 =l YSH 1,20,000
31.3.2019 I ISH 1,40,000
LR U 42,000
1.4.2018 i Fawr <t 78 g5t 20,000

Do oaded From : http://chsepBrtal . con Courtesy : CBSE


http://cbseportal.com/
http://cbseportal.com/

Daow@l oaded From : http://cbseportal . conl
v

23. Hari sold goods worth ¥ 70,000 on credit to Mohan and drew upon

Mohan a Bill of Exchange payable after three months. On the due date
Mohan met his acceptance.

Pass the necessary journal entries for the above transactions in the books

of Hari and Mohan. 4
OR
Explain any four advantages of a Bill of Exchange. 4
24. Prepare a Bank Reconciliation Statement of M/s Aman Traders from the
following information : 4
<
Bank overdraft as per cash book on 31.7.2019 45,000
Cheques issued but not presented for payment 17,500
Cheques deposited but not yet collected by the bank 9,600
Interest on investments collected by the bank 2,300
Bank charges debited by bank not yet entered
in the cash book 350
OR

Explain the procedure of preparing a Bank Reconciliation Statement
when bank overdraft as per pass book is given. 4

25. From the following information of M/s Ramnath, prepare a Profit and
Loss Account for the year ended 31.3.2019 : 4
Gross  Profit T 60,000; Rent < 5,000; Salary < 15,000;
Commission paid ¥ 7,000; Interest paid on loan ¥ 5,000; Advertising
T 4,000; Discount received ¥ 3,000; Printing and Stationery ¥ 2,000;
Legal charges ¥ 5,000; Bad debts ¥ 1,000; Depreciation ¥ 2,000; and
Interest received < 4,000.

26. Shiv maintains an incomplete record of his business transactions. From

the following information obtained from his books, calculate the amount
of profit earned by him during the year ended 31.3.2019 by preparing a

Statement of Profit and Loss. 4
<

Capital as on 1.4.2018 1,20,000

Capital as on 31.3.2019 1,40,000

Drawings during the year 42,000

Capital introduced on 1.8.2018 20,000

: oadedFrom *http://cbsepdrtal.com Courtesy : PCB3E


http://cbseportal.com/
http://cbseportal.com/

Daow@l oaded From : http://cbseportal . conl
v

27.

28.
29.

30.

1.1.2015 ! T fafiee 3 T 2,00,000 H1 T T30 o1 Ha fopam | 369
Tt fpva fafy @ mefied W ufqad 20% geggm@ @ @1 fofa fomm |
1.1.2015 ¥ Y hish e 98] b1 A0 @TAT dIR hHIFST |
JrqaT

1.1.2015 =l aTs fafies 3 T 1,50,000 1w T3fiF0 1 v foham | 3Tk WIS
T T 10,000 TAT FATTH W T 20,000 = Y | 1.7.2016 =l Teh 314 HRA 1
%I T 80,000 H fomam AT | 81.12.2017 I 1.1.2015 1 shT hl T8 T <!
T 90,000 H = feam T | o el W@ Ot ¥ 10% a1t JodasE
2|
kg T XY QAT 9T gk WY § 3T o i3 44 [0 Sy |
B, ®UEg @ g § Y MEfaRad e ¥ 31.12.2019 H T feufd
oo Gam hifSe
31.12.2019 % THT gL a9 & (¢ B, &HHAg 4 T 45,000 FH Yg AH
HHAT | 31.12.2019 =l IGeh! THYRT qT egqaTi ht feufa 1 geer o -
TE T 10,000; I T 1,20,000; S T 50,000; TER T 1,50,000;
S ¥ T T 50,000; FHI=L T 1,50,000 TAT SR T 1,55,000.
1.1.2019 ! T 3 T 50,000 I Gt & @@ T foFan | 97 1ot gk
gt JfafE ol o MR W T8 @ & | 99 H 384 T 15,000 fafes i
TS qAT 39 SARKTT ITAN & 9T T 10,000 T AT foham | 31.12.2019
1 IGeh! FRITAT a7 2IArd 4 TR & of .
TR T 90,000; TR T 1,25,600; b T 24,750 qAT ssh H T1E T 24,980.
Hwal w1 forewor fafer s 3wt #d g 31.12.2019 i HATd ¥ % fog fa
TR AT oy <h o i |

Jrqa

31Ul @l <l HIHTSAT sl ST |
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27.

28.

29.

30.

On 1.1.2015, X Ltd. purchased a machinery for ¥ 2,00,000. It decided to
charge depreciation on the machinery @ 20% p.a. on ‘reducing instalment
method’. Starting from 1.1.2015, prepare the Machinery account for five
years.
OR

On 1.1.2015, Y Ltd. purchased a machinery for ¥ 1,50,000. It spent
% 10,000 on its carriage and ¥ 20,000 on its installation. On 1.7.2016
another machinery was purchased for ¥ 80,000. On 31.12.2017 the
machinery purchased on 1.1.2015 was sold for ¥ 90,000. The company
charges depreciation @ 10% p.a. on ‘straight line method’.

Prepare the Machinery account for the years from 1.1.2015 to 31.12.2017.

State any five causes of differences between cash book balance and
pass book balance.

From the following information extracted from the books of M/s Karam
Chand, prepare a Balance Sheet as on 31.12.2019 :

During the year ended 31.12.2019 M/s Karam Chand earned a net profit
of T 45,000. The position of his assets and liabilities on 31.12.2019 was as
follows :

Cash < 10,000; Capital < 1,20,000; Bank < 50,000;

Creditors ¥ 1,50,000; Loan from bank < 50,000; Furniture ¥ 1,50,000
and Debtors T 1,55,000.

Ravi started a business on 1.1.2019 with a capital of ¥ 50,000. He does

not maintain his books according to double entry system. During the
year, he introduced additional capital of ¥ 15,000 and withdrew ¥ 10,000

for his personal use. On 31.12.2019 his assets and liabilities were as
follows :

Creditors ¥ 90,000; Debtors < 1,25,600; Stock < 24,750 and Cash at
bank T 24,980.

Calculate the profit earned by Ravi for the year ended 31.12.2019, using
Statement of Affairs method.
OR

Explain the limitations of incomplete records.
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